All questions below are to be answered  according to the essay “The American Economy is Rigged” by J. Stiglitz. 

1) Give three examples for recent trends that show rising inequality in the US.
2) What are the possible causes of the rising inequality in the US? 
3) Why does globalization (reducing wages in the US due to global competition) alone cannot explain the rising inequality in the US? 
4) Why is there a gap between wages and productivity according to Stiglitz?
5) According to Stiglitz, monopolization and market power of firms substantially contribute to rising inequality in the US. What is the economic role of “fixed costs” in monopolization?
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